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MS-1

PART-1 MATHEMATICS

A farmer lay a patch of grass in the form of
square as shown in the square B of picture
given below. What is the approximate cost
to lay the grass (square B) if the cost per 1
sq.cm is Rs.300. Consider each square in
the grid to be of | sq.cm.

(A) Rs.2000 Rs.1800

(C) Rs.1200

(B)

Sarayu has candies in 3 different shapes,
semicircles, triangles and circles as shown
in figures below. Sarayu eats all the
triangular candies. How do you represent the
same in fraction?

S TAVATATATAG @
(a) 418 ® 59
(C) 6/9 (D) 5/4

Chris lays tiles following a pattern show
below. If he has to continue doing the same
for the next shape following the same pattern
as shown in the figure how many tiles does
he require?

O TTC‘] HERRE! LT
C - £

(A) 4 (B) 12

mm @ ov

1.

AT T

< Y o & SR, U fehr aviiar
w9 H U BT VS gwel Bt A fawrar &
gfe arra ufa 1aet /A 300 w0 @ @
g & 3 B A e @t srgmifia s
e erfi? W ey f6 &t & was
fre &1 w9 199 /A 2

@) & 2000
(C) &. 1200

(B) . 1800

@l & U 3 3T AT BRI —IEi—ge,
Bt a1 9 @ AFR B el & | gt A
Wil Brpol smeR @ HE @1 off | 39 e
=1 w7 # &9 =

INAAAA
OO
(C) 6/9

(D) 5/4

fih - fe@r 71y e & IER erse
fqwTar 8 | aft arTel seR & forv 9 foa
i fREr M S B IR HEE e
AT 8, a1 g9 fow 99 fbal <ge
TIfRY?

0 maoEN nIaRGEaE
- : g
W) 4 (B) 12
(D) 19
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Ravi and Mani have the hobby of collecting
stamps. Each of them collect 15 stamps and
their friend Jiva collects 20 stamps. They
become very curious to know how many
stamps they have collected in total. Which
of the operation statements given below will
help them in finding the total number?

(A) Add 20 to 15 and then multiply by 15.
(B) Add 20 and 15; then multiply by 2

(D) Multiply 15 by 15 and then add 20

The 10" class students of a school voted for @

their favorite flavor of ice-cream. This chart
shows the results.

Ice-cream flavour | Boys Girls
Chocolate 16 5
Vanilla 4 11
Strawberry 15 2
Butterscotch g 13

When a bar graph is made for each ice cream
flavor. Which flavor would have the tallest
bar when looking at the choices of all the
students?

(B) Vanilla
(C) Strawberry (D) Butterscotch
Which option best represents rounding off
48768 to the nearest hundred?
(A) 49000 (B) 48800

(C) 48770 (D) 48000

Ana is teaching mathematics to the students.
She says take off 8075698 from 12034504.
Which operation is Ana teaching and what
is the answer?

(B) Addition and 2958806
(C) Multiplication and 3980806
(D) Subtraction and 3398806

MS-1

4.

6.

7

< Tt AT B STe—fewe T BA BT
e 21 S ¥ WP 99 15 so-fewe
ST BYaT & 3R SHeT I} wiar 20
SH-feme O SRal €1 9 39 9@ @Y
Y 95 Segd § 6 SR ga fee
sra—feme o fey | Prefefea Res H
JA B SRYE TP BA WS A
F ¥ AEg w17
(A) 20 15 wirer ol fR A 15 7o
I |
(B) 20 15% e R R & 2o
H |

(D) 151 Lsﬁwé!dgzo%. |

et =t @ 10 @ wen & Rl A
T T AEEE @ W 3 g dle
e | =e fy=ferRae aRoms sard €|

AEEEH B @E | ded | dsfedl
Hfheie 16 5
geTeT 4 1l
e 15 2
ECASSIL 9 13

————

9 Ud ASHDIH b Wi Y IR—UTH

gar] o &1 a@ Reafiat @ wg @

3wq 7Y, 5 <@re &1 9 |4y odl e
(B) arer

(C) N AD) 9T

48768 BT AoTSIP! W db B & dB o

o™ A @ ar faeey wdss 87

(A) 49000 \

(C) 48770 (D) 48000

1 fagmifial & wfora ger W@ 81 a8

12034504 8075698 fFreTet X8 B | AAI 1A

a‘iqi*maw@?aﬂ?qaﬂ}w%?

(B) WArSHT 3R 2958806
(C) oI &1 3R 3980806
(D) ©eT 3R 3398806
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11.

The sum of two numbers is 10048654. If one
of the numbers is 2081789, find the other
number.

(A) 90668635 (B) 7866865

A Machine Boat can catch 800 kg fish in
one trip. How much fish does the Machine
Boat catch in nine trips?

(A) 7500 kg (B) 7450 kg

(C) 7000 kg

Fazila says, “Kingfish weighs 6 kg. 1 will
sell all the fish for Rs. 900”. At what price
per kg did Fazila sell the kingfish?

(A) Rs. 125 (B) Rs. 145
(C) Rs. 130

Read the sentence carefully and answer the
question that follows:

The first number is 80.

The second number is 120

Find LCM and HCF of first and second
numbers

(B) LCM =480 and !!! = !!

(C) LCM =240 and HCF =20
(D) LCM =120 and HCF =40

Concept of Prime number: Any number that
can be divided, without a remainder, by the
same number and | is called a Prime number.
From the given options, identify the prime
number.

e © o

(C) 900 (D) 952

How many 25 paisa will make one rupee’

(A) 25 (B) 4

(C) 8 (D) 2
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9.

©

il

12

13,

2y TeEmal @7 AT 10048654 8 | ¥ W UD
T 2081789 &, SHY WA TR BN |

(A) 9066865 (B) 7866865

(D) 8866865

1< 7 e T AT 7 800 fell TR
T T & | a8 wL A A arelt A
el AT gdmel?

(A) 7500 et (B) 7450 el

© oo ot (RO

wifrer A el f& “feafee &1 a9 6
fre 21 § WY #oferdl @ ©. 900 I¥
Zf | witren Rrfew @ fea I W)

Ff?
i(B) ®. 145

(A) = 125
(C) ¥. 130

T @) g 9 ufed iR 39 de il
T ge &1 Ieax Sl |

TECT 3E 808 |

TN AP 120 8 | R

TES T IR 3 BT g TAIE (LCM)
3R FETH FEYad® (HCF) 49

(B). LCM =480 !l!’ HCF =40

(C) LCM =240 3R HCF =20
(D) LCM =120 3R HCF =40

TR T &7 fagia: i *1E ol |eE
S 9 g ok 1 9 fanf fear se
e p N AT A I A T I WA
Fed 2| 2 Ty feedl # | oY W

(B) 666
(C) 900 (D) 952
e 25 09 e &R wqY 8hr?
(A) 25
(C) 8 D) 2
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14.

15.

16.

17.

18.

Which of these options show the descending
order of the fractions?

20/25, 8/12, 4/8, 12/16

(A) 20/25>8/12>4/8 > 12/16

(B) 4/8>8/12>20/25>12/16

(C) 12/16>4/8 >20/25 >8/12

‘What is the expression of the number 0.625
in fraction?

(A) 8/5

®) 58

(C) 6/7

(D) 7/6

Feroz saves Rs 4,000 every month. Calculate
the amount saved by him in nine and half
years.

(A) Rs4, 32,000

(B) Rs4, 50,000

(D) Rs4,00,000 -

Jerime sells ice apples for Rs. 60 per kg.
Shenaz sells golden apples variety at Rs 40
per kg. Jerime sold 6 kg ice apples. Shenaz
has earned as much money as Jerime. How
many kg of golden apples did Shenaz sell?

(A) 9kg
(B) 19kg
(C) 17kg
(D) 15kg

Machine boat can travel at the speed of 22
km per hour. How far can a machine boat go
in ten and half hours?

(A) 225km

(C) 230 km
(D) 220km -

MS-1

T4, Prafafea Rt § ¥ 99 @ w9 A=)
@ Hed HH B guier &7

20/25, 8/12, 4/8, 12/16

(A) 20/25>8/12>4/8>12/16

(B) 4/8>8/12>20/25>12/16

(C) 12/16>4/8 > 20/25 >8/12

15. 0.625 &7 =1 w9 &g1 8?7

iAi 8/5

(C) 67
(D) 7/6

16. I & #89 %. 4,000 g91aT 8 | Qe A
a9l ¥ g8 fas w9d T=r e
(A) . 4,32,000

ii) %. 4, 50,000

(D) . 4, 00,000

17. SIRH, 389 VO &1 ®. 60 UfeT foar dach
2| 99T Mesd VO BT . 40 ufr fael
T 2| 9iR¥ 9 6 fen smgw Ve 99 |
AT | oiv| e w9 I 99T A

%mwmﬁ?

'B) 19 fen
(C) 17 faan
(D) 15 faar

18. wEF A9 22 f AL ufa 52 &) wfa 9§ T«
[Edl 8| WIe 6 HC W 98 "M A
fepet gx wgE?

A) 225 fHA.

(C) 230 f&HAn
(D) 220 f&A.
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19. Which of the following figures has exactly 19. f=feifaa § & @9 &1 7 wd@ ©9 |
one line of symmetry? WHM FHGYAT arel 87
(A) (A)
(©) (©)
(D) = . (DY

20. Find out which of these options have the 20, frrfofe e § ¥ o9 9 o e

letters that look the same after half a turn. AT (180 &) @ @ wAM @ &7
(180 degree) (M=Z, X, R, U, V,W
(A) ZX,R, U, VW (B) E,M,N,S,X,F
(B) E,M,N,S,X,F = R. -;E;AstB
© RQEAFS ® sxziNo
21. Complete the pattern: 9, 109, 209, , R teiwet 9 109,209,
@) 309,409 (B) 309,450
(B) 309,490 (C) 310,410
(C) 310,410 (D) 390, 409
(D) 390, 409
22. Karuna takes her kids to Zoo Park located Y2, o aius gea) o FRfSUreR & @ 8 9
15 Kms from her house. How much is this o RASFA RN TR
distance in miles? e At (miles) EXA?
(A) 15 miles - (A) 15 i
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23. Raveena and Rakul hold two ropes at an 23,
angle as shown in the figure below. What
kind of angle is it?

95

-
-

(A) Right
<)

(B) Straight

Acute

24. Ravi, Ramu and Raghu play a game. They = 24

stand forming the shape of triangle. Ravi is
at a distance of 10.3 m from Ramu and Ramu
is at a distance of 10.3 m of Raghu. Raghu
is standing at a distance of 2.3 m from Ravi.
What kind of Triangle did they form?

(A) Right triangle

(B) Scalene triangle

(D) Egquilateral triangle

25. . Which section of the circle below appears 25,

to represent — 7
P 27

(B) Section B
(D) Section D

(C) SectionC '

maﬁv@ﬂ?ﬁﬂﬁﬁmwﬁﬁ
& SIER T P W Uwed €| 7% e
ARE BT DI &7

95,

-

(A) THDIOT

(B) YE S
(C) ~gADIV \ s B

3fa, I o 7Y U@ Wl Werd €| 9 P
@I @7 AMHR g9 Y @S B | ¥4,
< & 10,3 Aex ¥ & T 7, g | 103
Ay @G MA2IAR T US|
Y g TRE @1 Brprer a9 @ 7

(A) EHT e

5 A T g BT B A ES %?ﬁ‘ra&'ﬁ

T &7

(B) @E B
(C) &e C

(D) @€ D

:quu*nm*****x***x***n*x**snx*********H****#*******:ut*ttt#tt**t**mtt**t**tw**
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PART-I1 GENERAL STUDIES

26. ldentify the term generally used. “The
Council of States in India.”
(A) Gazette
(C) Expunction
(D) AD hoc Committee

27. Which is the largest ocean in the world?
(A) Indian Ocean

(C) Atlantic Ocean
(D) Southern Ocean

28. Where do you find the statue “Christ the
Redeemer?”
(A) Perth

(C) London (D) New York

29. “Borra Caves” are associated with which of @

the following states?
(A) Kerala

(B) Maharashtra
(C) Tamil Nadu

30. Pongal is widely celebrated in Tamilnadu.
What is the significance of this festival?
(A) Victory of good over evil

(C) Birthday of Sri Krishna
(D) Inviting Rains

31, Sattriya is a classical dance form. Which of
these states takes pride in developingz this?

(A) Tamilnadu

(C) Andhra Pradesh
(D) Kerala

MS-1
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26, 3H AR SuanT far ST gren e YEET |
e # el @ gRkeg |
(A)  NT9—9F

(C) gag

(D) aremd WAy

27. PRI @1 e 991 HETERR BIH W &7
(A), fé= AR

(C) reeifed HETHIR
(D) <ferll FeRIR

28, “mTeve T REMR” ufem $Et W 87
(A) 9o of
(C) o= (D) @

29, “@Rf T (Borra Caves) frfofa wrodi
¥ fred Ay g€ 88 &7

(A) RS

(B) ¥ERTS

9

30, T @ afterErg ¥ e B9 § A
e & | 39 YER T 78 T 87
(A) UR TOTE B A

(©) il
(D) WTRE B IHAVT

3, v e wed 9 B e e
F7 &7 fFg Ty @Y S 87

(A) AT

@] s

(C) enauam
(D) B
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32.

33,

34.

a5,

36.

36.

38.

Solid carbon dioxide is also known as

(D) Dry Nitrogen

(A) Dry water
(C) Dryoxygen

Identify the personality who was also known
as the Iron Man of India?

(A) Jawahar Lal Nehru

(B) Mahatma Gandhi

ﬁ iﬁh&sh Chandra Bose

Dr. M. S. Swaminathan is related to which
field?

(B) Astrophysics
(C) Chemistry (D) Medicine
Who is popularly known as the Flying Sikh
of India?
(A) Kamaljeet Sandhu
(B) Fauja Singh »
(C) Gurbachan Singh

Who was the only Indian woman to become
the president of the United Nations General
Assembly?

(A) Indira Gandhi
(B) Sucheta Kriplani

(D) Sarojini Naidu

Who was the first Deputy-Chairman of the
Planning Commission?

(A) C.M Trivedi

(B) D.P Dhar

(D) V.T Krishnamachari

Who was the first Indian woman 10 become
a Governor of a state?
A) Vijaya Lakshmi Pandit

(C) Annie Besant
(D) Indira Gandhi

MS-1
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30, O A S GRS - SR

Hed & |
& g T

(A) T o
(©) g e (D) T gL

33. = @l B qard o WRa B oliE go
27
(A) TTEERET 6%
(B) WETHI Tl
g

34. :g‘f.mw.wmwméa%wﬁa
g7

(C) <@g E?r-v

35. wza 3 we R @ AW 9§ B A 87
(A) THEIT TY
(B) wron RiE
(C) Tosat fiE

(B) @ A
(D) e

36, bl WA AigeT B § O WIR TR
HeradT & A a7

(A) g it
B) HIATA

(D) TR ATEY

37. m_mﬁmwmaﬁﬂﬂ?
(A) . . e
v(B) @ @ W

(D) @ & FoTHEN

35 aﬁﬁﬁmqﬂ?ﬂﬂmﬁ?ﬁmﬁ
TSI T1?

iAi frorarae afdd

(©) T«
(D) gfew el
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29,

40,

41.

The First Indian Commander-in-Chief of the
Indian Army was

(A) Air Marshal S. Mukhcrjee

(B) Gen. Rajendrasinghji

(D) Gen. Gopal Gurunath Bewoor

Who was India’s first President?
(A) C. Rajagopalachari

(C) Zakir Husain
(D) Sarvepalli Radhakrishnan

Who was the first Indian woman to be
awarded with prestigious Bharat Ratna
award?

(A) Indira Gandhi

(B) Mother Teresa

(C) Lata Mangeshkar

(D) M.S Subbulakshmi

Which is the longest bone in the human

body?
- (A) Fibula (B) Ulna
CFE ) ™

43.

Which is the largest desert in the world?
(A) Arabian Desert
(B) Gobi Desert

(D) Great Victoria

What is name of the first artificial satellite
to orbit Earth?

(B) Explorer !

(C) Vanguard !
(D) Discoverer |

Earth is protected from UV rays

by layer.
() Ovgn  (@INOmEN
(C) Argon (D) Nitrogen

MS-1
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ARdG A D RS WRA™
W—sﬂ—iﬂtﬁﬁl
(A) TER Arfe QH. g@ell
(B) W Rd Woiw g i

W .

(D) RS OIS T[T aGR

40/ R B TES WU B &7

(A) T ). ISy

(C) iR g
(D) wdYee TS

41. wﬁr&awﬁwﬁﬁaﬁmﬁﬁaﬁ

ﬁiﬁhsﬁ?

(B) HeR T
(C) o AR
(D) UH. T4, gegores!

42, wra TR B TN T TGS DA A R?

(A) foga (B) ST
(D) fefam
mmmwaﬁﬂmﬁ?

(A) IRE! AHRIA
(B) &l HHWRIS

(D) Ue faweiRar
4}/ IR Y GREAT TR ATAT I PIAA SHE

T A1 8?
mmmen o
(B) 1

=2 XE# qZ_
(C) IFmE | e T3 S
(D) fewpaw | = By

A5/ L@ U g @1 gl
ol @ e foeren 21
(A) dfedom ENSEE
(C) affs (D) TERI
SET-B




46.

47.

48.

49.

50.

Which country has the longest border?
(A) Brazil (B) China
(C) USA

In which of these countries is the largest
railway network found?
(A) India
(C) USSR (D) China
Which of the following countries is the host
of 2016 Olympic Games?
(B) Ttaly
(C) United Kingdom
(D) South Africa

What is the name of the Indian State with
the least population?
(B) Goa
(C) Nagaland (D) Tripura
Sugar disease in medical terms is known as

(B) Typhoid
(D) Hysteria

(A) Jaundice

46,/ e S B e W ¥

47,

(A) =TSrel (B) @

(C) T

Preferfe 2ot § @ 59 2w § wed 91
¥ Aead &7

(&) e @ atm
(C) w9 (D) 9

48. Preiforiaa ot 8 @ fr 2w § 2016

Aefe A 8?

(B) zedl

(C) grTEee fhmeH
(D) <faror anpreT

49,/ WEW TH TAHEA] qTel IR I BT AH
&7

Y(B)

(C) ATTetS (D) fga

50. Fefedia wrearae § IR @ AR B

(B) THBITS
(D) RERa

-ru*t1-uununuuumun**nﬂuuunmnumu*u**tu*unuuunnu
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PART-III ENGLISH

Directions: Read the passage given below
and answer the questions that follow.
(Questions 51-55)

Earthquakes are natural disasters and we
cannot stop them from happening. Imagine
that the Earth’s surface is like a huge jigsaw
puzzle pieces that do not quite fit together.
The scientific name for these jigsaw pieces
is tectonic plates. Sometimes the tectonic
plates move and cause earthquakes.
Scientists use seismographs to measure the
movement of earth. They can give early
warnings when there is going to be an
earthquake. The strength or magnitude of an
earthquake is measured using the Richter
scale of 0-10. The biggest Earthquake ever
recorded was on May 22,1960 near Valdivia
in Chile. It recorded a Richter scale
magnitude of 9.5. The second largest was in
the year 1964 at Alaska. This had a
magnitude of 9.2.
Earthquakes can destroy buildings, people
and natural resources. People can be trapped
under the fallen building debris. Fires often
start. We cannot prevent Earthquakes from
happening, but we can be prepared for them.
We can design and construct buildings that
are Earthquake -proof.

51. In the passage, which category of disaster

does the Earthquake fall ungder?

@) Moomade (@A

(C) Planned (D) Technological

13

52. Identify another disaster similar to the

53

54.

58.

56.

Earthquake form? Note: This is not given in
the passage.

(A)
(C) Cyber attack

power blackout (B) civil unrest

The main purpose of passage is to:
(A) construct buildings that are earthquake
proof.

(B) understand the Richter scale
magnitude.

(C) protect from earthquakes

Which instrument is used as a precautionary

meaire to iredict earthquakes?

(B) Sphygmomanometer
(C) Theodolite
(D) Dioptra

“People can be trapped under the fallen

building debris.”

Find the meaning of debris in the above
sentence.

(C) possessions (D) sense

It’s time to wash the players uniforms.
(Choose the correct punctuation from the~
options given below.)

(B) player’s

(A) players”
(C) player™s

SET-B




57.  my favorite football team is the colts but
Ronnie thinks the bears are better.
(Choose the correct punctuation from the
options given below.)

(A) My, Colts, bears

(B) My, colts, Bears

(C) my, colts, Bears

58.  “Sarah is the fastest runner in the race.”
The word fastest means Sarah has come
______intherace. (Pick the right word that
best fits in the bracket.)

@) second BN

(C) Third (D) Fourth
59.  Rirta wanted to play with her friends yet the
idea of completing her homework seemed
better.
(Choose the correct punctuation from the

(D) friends.

options given below.)

(A) friends;

(C) friends:
60. The noise came from the river.
(Pick the right that means ‘the other end”)
(A) above (B) below

V(b) inside

61. Which of these options need something more
to make a complete sentence?

(A) My dad goes to office every day.

(C) My aunt lives in Hyderabad
(D) The movie was about dinosaurs.

MS-1
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62. We started six the
morning.
(Pick the correct set of options that best fit

in the blanks)

(B) in,at
(C) at,on (D) in,on
63. Snakes are reptiles. They do not drink milk.
(Combine both the above sentences to form
a meaningful statement.)
(A)

Snakes are reptiles, but they cannot
actually drink milk.

Snakes are reptiles since they drink
milk.
Snakes are reptiles, although drink
milk.

(B)

(©)

64. When the lava of a volcano touches the
ground, it can cause great damege and loss.

Which underlined word in the sentence iy

spelled incorrectly?
(A) lava (B) touches

- Directions: Pick the correct option that best fits
the blank for questions 65 to 69:

65. The child has been missing
yesterday.

B) from

(D) at

(C) on

66. you lend me a book please?
w e KR
(C) Would (D) Haveto
SET-B




7. You eat more vegetables for 74 My dog, Rocky, is a truly remarkable

good health. animal.
POMSHSHAN  (B) Might -
(B) igh In this sentence, what does remarkable
(C) May \/(I')) would
mean”?
0. The kindergarteners were taken to the park. (A) gegular
They ——————- run across the lawns and _
laugh. (C) conventional
(A) could (B) must (D) normal

- o

& 75.  Palmistry is the art of foretelling the future
(9. Ohdear! It is quarter past two. We R G ar TCIoIIng e

be latg for the game. events by studying the palm of a person.

20 Must (B) Have to The prefix fore- in the word foretelling
- (D) Would means:
(A) at last
7. SOARand______ mean opposites. (B) many
(A) elevate "(ﬁ) float

(C) mount

Ll B

71. thit,is the antonym of ‘ATHLETIC?’

Rkkkkkckk Rk R kkk ek Rk Rk kR Rk Rk Rk Rk kkk
UL C—

(C) energetic (D) intelligent

72. Which word is an antonym for
‘ANNOYED?”’
(A) disturbed

1C) encouraged
(D) worried

73. What is the correct way to write the word

that means ‘more than one family’?

(B) familys
(C) familyes
(D) familes
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HA-IV T8l

PrefeiRes Te@ P gEHy Y Y ue &
IER &

afg I YT Wi 9| 97g F 9 9 &
o Uied FEAY IR YA & A gF DRI
e | giedl # gy Fer Hidr A
gﬁma@ﬂiﬁmgﬁ&‘\’mamﬁﬁ
3, a8l gatuw g Wi @1 o | ared A
& axrer M g uiedl B & | FN DY
ﬁmaﬂ?v@ﬁaﬁqﬁ%fﬁrwé
yiedl 1 fewar 4 gsu fomT | giedt A T
7 A feR T @ RN g8 e H
Preea far| <l Uell @ @9 FHEE @
e 3 e AT ae evr g 83 | ¥
g@ﬁ'u@%‘%mﬂﬂmmﬁ

76. uigd fpan WiE A7
(A) <
(C) @R

A0l 38

77. qiga) @ far &1 @ 7 o1

78.
(B) WAl
(D) g

(C) IR

19, Frd} Ak giedl @ 9 gg TEl W
or?

iAi S H
(C) eRITR A
(D) qRTRT A

R0. @ U BT SUYE E IR
(A) TTEF (B) U 7fa
(D) T g&

8l. o R BT AR DA MR | D H
e vres 9drs] |
(A) oo
(C) oA

MS-1

(B) 3

82. e @7 fadm v &1 e
(A) TR (B) &

C R

g3 dq @1 de QAT eI T o T &7
(A) @ ST
(B) feamg 7 &

PR

84. zﬂmfgwmwam%mﬁw
@%!i@iﬁﬁgmﬁm&ﬁmﬁ?
(7 T TeES B

(B) @Tel @RI Bl
() fawre
(D) & HAT

85. qjﬂ?ﬁuﬂa‘kﬁgﬁ%l@ﬁa@:ﬁ
fapan @1 WS 9T |
(A) IFHD
(C) Rone® (D)

86. i fererd & Pised) € | Xaifdd &1 oRE

9ar
¢ &) X (B) @
B

87. @Wﬁﬁ?m%w@aﬁwﬁl
Yaifew ofer @ fog U wied 9=y |

iAi ﬁ (B) ufed

(D) #TEH

88. mwﬁmwnﬁmaﬁ@‘iﬁ?“ﬂmﬁmi
Yeaifra ofw @ forg U& U ddiEt |
(A) WA B) am

g0 forae! FE JHR A & B (P U ALY |

(A) HABR IBI AER

(C) 9N
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90. ‘fora®T day sfaer 9 8 & fow e e
qargy |

e () i
(C) »fa (D) snfRa®
91. Fefafed aga § Rea o & off @
ferv Suge wres wETSY |
(A) s @
(C) diexar (D) a1

9. FeEfafeg argg 4 Rea @ & fd @

forg Suge v 9Ty |
(A) sruer ®) wg
©) fog L“b) w

fFrfafed aea 4 Raa = & ofd @
oy SugE o TSy |

B o s

(C) & Tsf (D) & PR

3.

04, fym=feifaa # & @lF— areg e o
T | [l ¢
(A) IR # AW AFY 3FF TR WA

iz Ty —

(C) ATl el aToTR | |HEE AT |
(D) SH& gl fiFdt &1 Ul a |

frfefaa arel d Rra—Remer Hdfa
rgfE gy |

(A) 949 T ASHT & |

(B) ol 9gd ®ER I © |

C), W A uidl BH &1 aY |

ST —

93.

MS-1

17

fr=ifeRaa g @ vgax R Tl @
IR

HETHS YIIRT HT 91 1879 §. | IR A
™ H g3 AT g POT a4 WRT B
it wirar sNFwr & a1 Y T gUiA
3rcia Aotladl ¥ fhar | GRATR' g7 URTEg
wErEe €| U pw-aufdd Hfag § gdss
Hfd 7R W 8 | HET Gl & & GRErsIon
S ¥ | U Y€ PWT @) HEARA BId HA
@ i@l | o@d A | §P Ual § PO B
are oierstl &1 wong T et 2|

96.

AETHA RATHSH B T HEl g o017
(A) 3R H

(B) wyvr A
(C) ool #

\

97. FTHT T B GIAT AT?
A) 1979

(C) 1779
(D) 1867

98. T fFasdr vl & ug ford?

(Ay—=TH @I
(B) TiH @t

"(D) AR &)
99, gud ufyE F8THIG &1 FT TH 87

(A) MR
B)  HERITTRR

(D) GRErR

100. 3 F91 & f&9 HU & I far &7

(A) fawy w9 &1
(B) , ¥ Y9 &I

(D) wXAE W9 &I

e ok s ok ok ok ok sk sk o ok ok ok ok sk sk ok sk e ok kol ke sk ok ok ok sk ok ok ok ok ok ok
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